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TROMBONE

1.

Wagner - Overture to “Rienzi, The Last of the Tribunes™: 9 bars before Allegro

energico to Allegro energico
Quarter note = 54
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Wagner - Overture to “Rienzi, The Last of the Tribunes™: 72 bars after Allegro
half note = 120
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3.

Wagner - Overture to “Rienzi, The Last of the Tribunes™: molto piu stretto to end
half note = 160 (whole note = 80)
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Tchaikovsky - Symphony No. 2, first movement: 12 before K
half note = 90
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5.

Tchaikovsky - Symphony No. 2, first movement: 5 after P to Andante sostenuto
half note = 90
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0.

Tchaikovsky - Symphony No. 2, fourth movement: Q
half note = 144 (in 1)

Presto. Viol.
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BASS TROMBONE

Corni.

1.

Tchaikovsky - Symphony No. 2, first movement: P to Andante sostenuto
half note = 90
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Tchaikovsky - Symphony No. 2, fourth movement: beginning
quarter note = 96
Moderato assai.
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3.

Tchaikovsky - Symphony No. 2, fourth movement: Q

half note = 144 (in 1)

Presto. Viol.
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